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T 4397

HEAICTRIT 17T &1 S @raer @ 9igq 3R 377 G & e g :

(i) 37 397-97 538 397 & | @t 357 arfAard & |

(ii) T8 J97-97 Giar @US 7 [y 8- &, @, T, 909 & |

(iii) @Y & H Yo7 &7 14 18 % aglascydid aqr I94 & 19 vq
20 375FeT T deb FERT Uh-UF 37 & J97 8 [

(iv) @UE @ T ¥97 T&I1 21 @ 25 7% 37ld Tg.IRT (VSA) THR & gI-§1
3H & G 8 |

(v) @vg;ﬁ‘m &7 26 T 31 TF TY-IFTNT (SA) FHR & di7-aid 37H &
T8 |

(vi) @UE T H 97 &7 32 @ 85 a% 5-3707 (LA) IHR & Gra-gia 37!
& 973 |

(vii) gvggﬁwa@ms#%ywmwaﬂaﬁﬁanwﬁ%m
/

(viii) Y¥7-97 & Gay fdoeq 787 1597 7137 8 | Jefd, @vs & & 2 yo41 4, §vs 7
2 Y99 7, @IS g 2 Y § 79T @IS & & 3 YA 7 HaRF ldheq FT
JIFE 1397 77 8 |

(ix) W%Wﬁﬁh:% g |
(x) Dopaiet F I dldd & |

Eusg h
39 @I H Fglahcyi J97 8, 978 I% Jo7 1 3% 1 5 |
1. 3IfC o9 quiieh x A y, x = adb2 qAT y = ab3 % €9 ¥ fol@ 9 &,
& a q91 b 19T §&ATC &, @ 39 HCF (x, y) &
(a) ab (b) ab?
(c) adb3 (d) a2b?
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)

(it)

(iii)

(iv)

(v)

(vi)

(vii)

This question paper contains 38 questions. All questions are
compulsory.

This question paper is divided into five Sections — A, B, C, D
and E.

In Section A, Questions no. 1 to 18 are multiple choice questions
(MCQs) and questions number 19 and 20 are Assertion-Reason
based questions of 1 mark each.

In Section B, Questions no. 21 to 25 are very short answer (VSA)
type questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are short answer (SA) type
questions, carrying 3 marks each.

In Section D, Questions no. 32 to 35 are long answer (LA) type
questions carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions
carrying 4 marks each.

(viit) There is no overall choice. However, an internal choice has been

(ix)
(x)

provided in 2 questions in Section B, 2 questions in Section C,
2 questions in Section D and 3 questions in Section E.

Take m = 27—2 wherever required if not stated.

Use of calculators is not allowed.

SECTION A

This section comprises multiple choice questions (MCQs) of 1 mark

each.

1.

If two positive integers x and y are written as x = a%bh? and
y = ab3, where a and b are prime numbers, then their HCF
(x,y)is:

(a) ab (b) ab?

(¢) ashd (d) a2b?

430(B) Page 3 of 23 P.T.0.
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2. T HEAS 50 91 20 % #.€. (HCF) aam @.9. (LCM) &l %A

3
(a) 10 (b) 100
(¢) 1000 d) 20

3. e YA IRHYT HEIAT qAT Th INHT & T HGA 3
(a) HIM UMY
(b) B gRH
(c) UNEI AYaT UiET
(d) BHI TR

4. 98 fgurd 9gug foreeh Ik 2741 3 7, B -
(a) x2+5x+6
(b) x%2-5x-6
(c) x2+x-—6

d x2-5x+6

5. g THIHW IH 3x— 5y — 2 =0 AT — 9x + 15y — 5 = 0 I
(a) had Th (i) g 2
(b) HH T EA B
() AuRfd &9 ¥ 31 & &

(d) % A TR R

430(B) Page 4 of 23
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2.  The product of the HCF and LCM of two numbers 50 and 20

1S .
(a) 10 (b) 100
(¢) 1000 (d) 20

3. The product of a non-zero rational number and an irrational

number is :

(a) always irrational

(b) always rational

(c) rational or irrational

(d) always positive

4. A quadratic polynomial whose zeroes are 2 and 3 is :
(a) x2+5x+6
(b) x2-5x-6
(¢c) x2+x-6

d x2-5x+6

5.  The pair of linear equations 3x —5y—2=0and -9x + 15y - 5=0

has :

(a) aunique solution

(b) exactly two solutions

(c) infinitely many solutions

(d) no solution

430(B) Page 5 of 23 P.T.0.
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6. IC HIRW 9x2 + 12x + k = 0 % 7 99M &, al GFI JA e 3 :

(a) %
(b) —%
© 2
(@) —%

7. fg@,-pHRxgag:
(a) 3 (b) -3
() -5 (d 5

8. R (-3, a), g3l P(-5,7)dM Q(—1, 5) ! A dTe1 T@Rave
Heyfog B, Al ‘@’ WA 8
(a) 1 (b) 6
(c) 12 d -3

9. 3 guEd BySl % R HET: 28 cm AT 35 cm ¥ | AR Ted By
61 e 4 1 T 8 om 2, A1 g B 1w A 2

(a) 10cm
(b) 8cm
(c) 16 cm
(d) 5cm

430(B) Page 6 of 23
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6. Ifthe equation 9x2 + 12x + k = 0 has equal roots, then both the
roots are equal to :

(a) %
(b) —%
© 2
(@ —%

7. The distance of the point (3, — 5) from x-axis is :
(a) 3 (b) -3
(¢ -5 d 5
8. If(- 3, a) is the mid-point of the line segment joining the points
P(- 5, 7) and Q(-1, 5), then the value of ‘a’ is :
(a) 1 (b) 6
() 12 d -3
9. The perimeters of two similar triangles are 28 cm and 35 cm

respectively. If one side of the first triangle is 8 cm, then the

corresponding side of the second triangle is :

(a) 10 cm
(b) 8cm
(c) 16 cm
(d) 5cm

430(B) Page 7 of 23 P.T.0.
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10. 3fe frysi ABCH%TPQRﬁ,LﬁAQ,LR:ACHW AB = 2PQ
g, d1 gl By
(a) TETEA g W TUEY &I 8
(b) WEEY § g HANTEH TR 3
(c) + HalTEd R 7 & T0EY &
(d) TaiTEY qAT THEY &

11. 3¢ T T IgyS T g1 o 1074 8, d1 I8 T I @ :
(a) T a
(b) Uk Ad

(c) TH THEGHS
(d) TH TS

12. Eﬂ%tan@=%%,?ﬁcos@ﬂﬂﬂ%:
(a) (b)

(c) (d)

g|w ol w
N R G BTN

13. Ifc 2sin A=cosec A®, A L/ A ST 3 :

(a) 30° (b) 60°
(c) 45° (d) 90°
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10. If in triangles ABC and PQR, /B = £Q, ZR = ZC and
AB = 2PQ, then the two triangles are :

(a) congruent but not similar
(b) similar but not congruent
(c) neither congruent nor similar

(d) congruent as well as similar

11. If a parallelogram circumscribes a circle, then the

parallelogram is a :
(a) square

(b) rectangle

(¢) rhombus

(d) trapezium

12. If tan6 = %, then the value of cos 0 is:
(a) (b)

(c) (d)

g|w ol w
EN A NG RN

13. If 2 sin A =cosec A, then £ A is equal to :
(a) 30° (b) 60°
(c) 45° (d) 90°

430(B) Page 9 of 23 P.T.0.
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15.

16.

17.

18.

EE

afg T R % Rt &1, 396 e ¥ 75 m H gt W R fog W
ITI IV 60° B, Al TR hl SIS 2 :

(a) 75+/2 m (b) 50+/3 m

() 25+/3m (d 7543 m

Ife qf Fehgd gl hl BT 15 m a9 13 m &, @1 qRE=Rl ae
(circulating ring) ®1 &=%a (a7 M. #) 7 :

(a) 176 (b) 178
(¢c) 180 (d) 200

19 20 Toh hl G&ART H ¥ AgeaT Th H&AT I TG | T TS T
o YT AT B <hl TTRehdT 2 :

7 3
@ 35 ® 10
1 2
(c) 2 (d) =

Ife Teh IRERAT §ed & a1 1 -9, 10 — 18, 19 — 27, ... 3cd1(e &, I
T ITHR B

(a) 8 (b) 9
(¢ 10 d 7

Ife Toh INENAT S 1 HIEIh qAT Sgaish ShAY: 26 AT 29 &, @
THH] UL |

(a) 235 (b) 24

(¢c) 245 d) 275

430(B) Page 10 of 23



EE
=

14. If the angle of elevation of the top of a tower from a point at a
distance of 75 m from its foot is 60°, then the height of the

tower 1s :
(a) 7542 m b) 503 m
(c) 2543 m (d 753 m

15. If the radii of two concentric circles are 15 m and 13 m, then

the area of the circulating ring (in sq. m) is :
(a) 176 (b) 178
(¢) 180 (d) 200

16. A number is chosen at random from numbers 1 to 20. The

probability that it is a prime number, is :

7 3
(a) % (b) E
1 2

17. If the classes of a frequency distribution are 1 — 9, 10 — 18,

19 — 27, ... etc., then the class size is :
(a) 8 (b) 9
() 10 d 7

18. If the median and mode of a frequency distribution are 26 and

29 respectively, then the mean is :
(a) 235 (b) 24
(¢c) 245 (d) 275

430(B) Page 11 of 23 P.T.0.
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J97 G&IT 19 3K 20 37997 TF deb TERT 97 & 3K I 97 &7 1 3%
& 1 31 %97 15T 1Y & 5774 Tk &l SA9FIT (A) G971 TR # @ (R) GRT 3l
f5T T 8 | § Fel @ GE I Al 17T T BIST (a), (b), (c) R (d) 7 &
A FIT |

(a) AfHA (A) 3R T (R) THT T& & 3 @b (R), 31UHeH (A)
&) ) IR HLdT 2 |

(b) AR (A) 3R % (R) A @@ B, g da& (R),
AR (A) I & ST FgT il g |

(c) AR (A) T 2 991 a6 (R) Tdd 2 |
(d) 3fheE (A) TTeTd B de e (R) €81 2 |

19. 3W%IT (A): 14 cm BT TAT 90° Sl IV I I o Hsa@ve
1 &% 154 cm? 7 |

7% (R) : s ¢ a9 HEF RV @ A I % FHeIEvs Hb

0
AP r2 — © |
i 360%

20. 3YFHYT(A): TS &IHA 616 cm?2 ATl Ml I AE 7ecm g |
7% (R) : BT ¢ et M 1 TS &% 4nr? B |

Qe @
3G @US 7 3717 7Tg-3TT (VSA) FFR & 97 &, o978 J8% &2 3% & |

21. UH T GEE F1d HIFST SR IThSA 75 qAT TR 25 7 |
22, 30 m 9Ts % WY @S T hHi YH | IS W T h @95 15m 7 |

3t g9 T HAR Sl Yt W) U W SR A d9s 70 m 7 | HAR A
STS TTd I |
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Questions number 19 and 20 are Assertion and Reason based

questions carrying 1 mark each. Two statements are given, one
labelled Assertion (A) and the other labelled Reason (R). Select the
correct answer from the codes (a), (b), (c) and (d) as given below.

(a) Both Assertion (A) and Reason (R) are true and
Reason (R) is the correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R)
is not the correct explanation of the Assertion (A).

(¢) Assertion (A) is true and Reason (R) is false.

(d) Assertion (A) is false and Reason (R) is true.

19. Assertion (A): The area of the sector of a circle of radius
14 cm and central angle 90° is 154 cm?2.

Reason (R) : The area of the sector of a circle of radius r and

central angle 0 is nr2 i
360

20. Assertion (A): The diameter of a sphere, whose surface area
is 616 cm?2, is 7 cm.

Reason (R):  The surface area of a sphere of radius r is 4nr2.

SECTION B

This section comprises very short answer (VSA) type questions of
2 marks each.

21. Find two numbers whose sum is 75 and the difference is 25.

22. A vertical pole 30 m high casts a shadow 15 m long on the
ground. At the same time, a tower casts a shadow 70 m long on
the ground. Find the height of the tower.

430(B) Page 13 of 23 P.T.0.
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23. Tog I T 3 Fhgid Il H o8 g I Siial oI BI I hl &9
Hdl 8, T3l fog W emfgufoa 2t 2 |

24, (%) 18 cm Fsa & 39 I TH AW H @K 10n cm & | 39 AW

GRI I o °hg TX JIANA L ATAT IVl 1T HITIT |

AYAT

(@) T o o UL 1 I 140 cm 8 | 66 km/h &l 916 W =erd
BT 9 % UfleY gRI Tk e § o U el ohl HEAT S
i |

25. () H&tan@:%%,?ﬁﬂﬂfﬂ‘dﬁﬁm:

(1-sin09) (A +sin0)
(1—-cos0)(@ +cos 0)

AYAT

(@) T g Ayst ABC 590 ~ C gmhivl &, ° 3¢ tan A = /3
8, @l sin A cos B + cos A sin B &1 #H J1d <hIfS@ |

Qs 1

$F GUE § Tg-ITHIT (SA) THR & Jo7 &, 1578 J9% & 3 3% & |

26. <IMEU T 5 + 243 U* Uiy gew g, fear mn 2 6 V3
AINHT T 7 |

27. fgoard g9 x2 — 5x — 6 % YIH F HINTY TAT 3 IRl I
TUTHTTT <k T[UTTehI < T T hl TG T |

430(B) Page 14 of 23
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23. Prove that in two concentric circles, the chord of the larger
circle, which touches the smaller circle, is bisected at the point
of contact.

24. (a) The length of an arc of a circle of radius 18 cm is 107 cm.
Find the angle subtended by this arc at the centre of the
circle.

OR

(b) The diameter of a wheel of a bus is 140 cm. Find the
number of revolutions the wheel will make in one minute
to keep the speed of the bus at 66 km/h.

25. (a) If tan6 = %, evaluate :

(1-sin9) (A +sin0)
(1—cos0)(@+cos0)

OR

(b) In a right-angled triangle ABC, right angled at C, if
tan A = /3, evaluate sin A cos B + cos A sin B.

SECTION C

This section comprises short answer (SA) type questions of 3 marks
each.

26. Show that 5 + 2+/3 is an irrational number, given that /3 is

an irrational number.

27. Find the zeroes of the quadratic polynomial x%2 — 5x — 6 and

verify the relationship between the zeroes and the coefficients.

430(B) Page 15 of 23 P.T.0.
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28. (%) fi=fcfad e wisror gm %1 g HiVT :
8x+5y=9; 3x+2y=4
Tt
(@) < ARHAT bl A T 9 : 7 1 UM g Talh b o9 H TG

4:3% | I g =AfE arfies T 2,000 6 s=d H oqT g, dl
3eh! afies 3T 3T ShifsTT |

29. (%) U gd =Igyst ABCD i afl IR q13ti ol To9 ol & | fag
#HifSe 6 AB + CD = BC + AD.

S OCI
(@) fag Hifu 6 foreft g o Frel =@ % 0 W &= T
TG G AT Bidl 3 |

30. fug hifSu fe -

(cosec A—sin A) (sec A—cos A) (tanA +cot A) =1

81. T UTHl Sl Tsh WY 3IBTAT T | A1 I T 38 G&AAT bl JTHA
10 37 10 ¥ H B hl TTR¥rehal 3Td hIfST |

Qe g
59 @V 7 FH-3709 (LA) IHR & 97 &, 973 I9% & 5 37 & /

32. (%) UH GUIR Il o T 9 Y 1 I 171 B a7 3Tk M
24 U T AMHA 996 2 | M HHIR UG w1 2047 Ug Q@
1T |

AYAT

(@) ¥ AT JTehd TEATY 38 ThK & Toh T80l oh a1 AT 3 al
%A I AMHhA 154 7 | TN G T |
430(B) Page 16 of 23
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28. (a) Solve the following pair of linear equations :
8x+5y=9; 3x+2y=4
OR

(b) The ratio of incomes of two persons is 9 : 7 and the ratio

of their expenditures is 4 : 3. If each of them saves
T 2,000 yearly, find their annual incomes.

29. (a) A circle touches all the four sides of a quadrilateral

ABCD. Prove that AB + CD = BC + AD.
OR

(b) Prove that the tangents drawn to a circle at the end
points of a diameter are parallel to each other.

30. Prove that:
(cosec A —sin A) (secA—cos A) (tan A +cot A) =1

31. Two dice are thrown simultaneously. Find the probability that
the sum of the two numbers appearing on the top of the two
dice is less than or equal to 10.

SECTION D

This section comprises long answer (LA) type questions of 5 marks
each.

32. (a) The sum of first 9 terms of an AP is 171 and the sum of
its first 24 terms is 996. Find the 20th term of the AP.

OR

(b) Three consecutive natural numbers are such that the
sum of the square of the first and the product of the other
two is 154. Find the numbers.

430(B) Page 17 of 23 P.T.0.
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33. 3fe Forelt Brgst i vk o & TR 7 g1 et wl fia-fira fage
T Ifd=se v & T e W@ "= S, q1 fag hifse 5 3 = @
YSITd ek & FgaTd § T &1 ST € |

34. (%) TS H Th ¢oh, & Hehgld Il gl R Io& o ®I H g | 9|
qAT TN Il hl THIAT SHH: 616 m TAT 528 m & | 39 ¢

&1 =SS AT ATHBA 1 hIfIT |

HAYAT

(@) UH 39 fEGaiHT, T T T ALARITUG A WP o THR
H 2 | QEl % MR T A 14 cm & AT AP Hl S8
24 cm 7 | Tacie &1 9yl TS &%ha Qe STRIaH Fa it |

35. 4= s o1 Sgeth A1d HIT

. farerferan #1
bz .
&7
0-20 15
20 — 40 18
40 — 60 21
60 — 80 29
80 - 100 17
oo T § o6 IUY® §ed 1 71T 53 7, Al AIHIAH I (empirical
formula) s AT ¥ HIETH AT @ﬁm |

430(B) Page 18 of 23
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33. If a line is drawn parallel to one side of a triangle to intersect
the other two sides in distinct points, prove that the other two

sides are divided in the same ratio.

34. (a) A race track is in the form of a ring enclosed by two
concentric circles. The outer and inner circumferences
are 616 m and 528 m respectively. Find the width and
the area of the track.

OR

(b) A solid toy is in the form of a hemisphere surmounted by
a right circular cone, the diameter of both is 14 cm and
the height of cone is 24 cm. Find the total surface area

and the volume of the toy.

35. Find the mode of the following distribution :

Marks Number of
Obtained Students

0-20 15

20 - 40 18

40 - 60 21

60 — 80 29
80— 100 17

Given the mean of the above distribution is 53, using empirical

formula, find its median.

430(B) Page 19 of 23 P.T.0.
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WUE T
5 @GUE H 3 YHU 37eTYT JTHIRT 97 & 578 Jedb b 4 37 & |

ThI0T HATIH -1
36. Ush %l T w10 o1 FHHIU Bra1 8 91 & a¥ U Hfved = 9 I8
3cqTe Sgdl T & | 39 $hacdl ° =Y 99 § 80,000 R k1 fHHi0r

BHT AT W1 N H 1,10,000 SR sh1 A0 g7 |
IYth o AUR W, FHfefad Al = 3w i

(%) vsat a¥ 4 faftia &/ f g=n @’ qn m ffvaa en @
gfd a9 Seiadt B W 8, ‘A AR 1Y a9 H 91 BRI o U
‘@ qdl ‘d’ ¥ gy fafau |

(@) dad a9 & fau ‘@’ o1 ‘@ ¥ g9y fafay |

() 39 T iRl ok B ‘@’ [ HIRT |

HAYAT

(M) 39w 3 TR % B & ‘A T AT |

ThIOT FEqIH — 2

37. 5m S T HHR o R W TH &a9que ofM 83T 7 | qH & Th
fag 4, eaoique % fRREw 1 3T HI0 60° 7 dA HAR % e
I IV 45° B |
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SECTION E

This section comprises 3 case study based questions of 4 marks each.
Case Study -1

36. A factory is manufacturing cars and is increasing its
production by a fixed number every year. The factory produced
80,000 cars in the fourth year and 1,10,000 cars in the seventh
year.

Based on the above, answer the following questions :
(a) Taking ‘a’ as the number of cars produced in the first
year and ‘d’ the fixed number by which the production is

increasing every year, write a relation between ‘a’ and ‘d’

for the fourth year. 1

(b) Write the relation between ‘a’ and ‘d’ for the seventh year. 1

(¢) Solving the above two equations, find ‘a’. 2
OR
(c) Solving the above two equations, find ‘d’. 2

Case Study - 2

37. A flagstaff stands on the top of a 5 m high tower. From a point
on the ground, the angle of elevation of the top of the flagstaff
is 60° and from the same point the angle of elevation of the top

of tower 1s 45°.

430(B) Page 21 of 23 P.T.0.
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SHh o HTYUR W, (HAiad S2i & I T

(%) EfgeRfimFmeFfafighang?

(@) edeleug 6t Hars F= 1 8 ?

() afe w o= fog W HHAR % fRrEt 1 39 HIor 30° 7, 1 39
7 feig <l WHR o uTg @ gl 1A HIT |
arera

(1) AR % ferer fag qur =g fog 5| ® AR % R w1 3w
T 30° 7, % s I gt 71a HIfw |

ThI0T AEqIH - 3

38. T =wqyst ABCD & 3fist & fidsnes A(3, - 1), B4, 4), C(— 1, 3) a
D(—2,-2) 8 | 98 914 & forw for 97 fopm g o1 =qydw 2, fm
Wﬁﬁl@:

(%) AB AT CD st STFaTsal 1 hilerg |

(@) BC a9l AD i 183l Fd it |

(1) AC dm BD ht aFargat i shiierg |
arra

(f)  AC @1 BD o wea-fag rd HIVT |
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Based on the above, answer the following questions :

(a) What is the distance of the point from the foot of the
tower ?

(b) What is the height of the flagstaff ?

(c) If at some other point, the top of tower’s angle of
elevation is 30°, then find the distance of this new point
from the foot of the tower.

OR
(c) Find the distance between the top of the tower and the

point at which the angle of elevation of the top of tower is
30°.

Case Study -3

38. The coordinates of the vertices of a quadrilateral ABCD are
given as A(3, — 1), B4, 4), C(—1, 3) and D(- 2, — 2). Find the

following to know what type of quadrilateral it is :
(a) Find the lengths of AB and CD.
(b) Find the lengths of BC and AD.
(c) Find the lengths of AC and BD.
OR
(c) Find the mid-points of AC and BD.
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